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21
x 1000
(kg/ )

7.1E+1] 6.3E+0 717.6 717.6
2.9E+2 290.0 290.0
4.6E+3 4,600.0 4,600.0
1.1E+1 10.8 10.8

1.6E+0 1.6 1.6
8.5E+0| 1.5E+3 1,549.8 1,583.8
4.6E+3 4,564.3 4,564.3
49E+3| 14E+4 18,940.0 18,940.0
1.6E+2) 2.2E+3 2,349.0 2,349.0
9.4E+1 94.0 94.0

92.0

1.2

6.9E+3 6,900.0 6,900.4
42E+2| 6.5E+1 484.2 484.2
5.0E-1] 49E+3 4,864.6 4,864.6
1.8E+3 1,787.0 1,787.2

48E+1| 19E+3 1,968.0 1,968.0
19E+1| 2.3E+4 22,7182.6 22,794.6
1.7E+3 1,700.0 1,717.0

1.0E-1 0.1 0.1

1.7E+4 17,006.9 17,806.9

5.4E+2 540.0 540.0

1.0E+3 1,000.0 1,000.0

2.0E-1 0.2 0.2

5.7E+3| 8.6E+4 91,510.7 92,467.5




